Precal Malters WS 4.5 Exp & Log Eqa

Name Date _ Period

Worksheet 4.5-—Exponential and [.og Equations

- Show all work on a separate aper. All answers must be given as either simplified, exact answers.

No calculator is permitted u

Mulitiple Choice
1. Solve 2¥7'=32

(A) x =2 (©x=4 (D x=11 (B)x=13

2. Solve Inx=-1

(A) x= L ox=1 @x=e @®DNE
€

3.. The domain of the furic

® (L4 0.6,0) (O (~0,0) (D) (-26,9) (E) (-l-i-,oo]

2 x

1 . ]
C D) i
1-x =X ( )1—x2 ©® n[l—f) @1—;8
5. If ]0g3(x+3)+10g3x: g, 28 then_x_equals .
©7 12 (B2l

6. I3 =9 and 3" =9

7. Evaluate (log, 4)(log, (.
©8 ® ®» )
8. If (log, b)(log, 3)(log, ) 0 125)=-1.5, then the value of a is ?ék‘) \](
(B) 5 (D) 4. (E)0.5 9] ‘"\

9. If — of 5% is 125", tht the val
25

B) 5 (C) -5 (B) 2°
10. If 57 =6 and 5* =4, then 25" =7 z :
A) /6 ®10 (©2 24 (E) 125
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Precal Matters WS 4.5 Exp & Log Eqa

Short Answer:
L1. For each of the following, fi
approximation (if apphmb

@ 2.3 =5.7%9 (5

e simplified, exact solution accompanied by a three-decimal

2 () 4x’e" =3x%¢™  (d) e -12¢7 —1=0

(e) log,3+log, x =log -2) I logs (x+1)-log, (x—1)=2
(©) og, (v-5) g, (=
PR 4 C’ \' ! \L '.- e
Q) ’V‘\(c)"f)"‘) }H( ol x? \X )>\ B

L—{x e’ *—%‘x e
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a2 v i
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14, Solve for x:

(a) 2log, x =2log, (1-

{(b) log, x=2-a+log

(d) logs‘(ln(x+3)—1) o
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15. Find the x- and y-inte
(a) y =2log, (x+1)
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17. Solve the following litéf‘ i fitlons for the indicated variable.
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